Math 342 —Hypergeometric distribution

Problem 1. Suppose in a population of 1000 deer at a national park, 200 are captured by the
wildlife service. These deer are tagged, say with some identifying mark, and are released back into
the park with the rest of the population. After a period of time, a new sample of 50 deer are
re-captured. Let X count the number of tagged deer in this group of 50.

a. Does X have the hypergeometric distribution? If so, what are the parameters?

b. Find the probability that there are exactly 10 tagged deer in our re-capture sample.

c. Find the probability that there are at least 10 tagged deer in our re-capture sample.

d. Find the probability that there are between 5 and 15 tagged deer in our re-capture sample.
e. Find the expected number of tagged deer in our re-capture sample.

Problem 2. Suppose that a batch of 100 items contains 6 that are defective and 94 that are not
defective. If X is the number of defective items in a randomly drawn sample of 10 items from the
batch, find

a. P(X =0)
b. P(X > 2)
c. E[X]

Problem 3. In a population of 10,000 people, 8000 are in favor of a proposal for a new law.
Suppose that a poll of 25 people is taken. Find the probability that between 15 and 20 people
in the poll are in favor of the proposal, assuming (a) sampling is done with replacement and (b)
sampling is done without replacement. What do you notice? Make a conjecture about when the
binomial and hypergeometric distributions give similar probabilities.



